3T 7 : ITHAIUST
Read the following sentences carefully :
(1) @ soa e e fafs |

(2) T R A R e
(3) T wifor fad fie sf sfy abaf |

In the words used in above sentences, some words are noun forms and some are verb

forms (fdg=i - verb forms). Both kinds of words, you have already studied, so you can

N

recognize them. Now look at the words underlined. These words are adverbs.

For adverbs it is said...

Tee By fagiy wafg = faufey |
ey 9 9y a4 Afd deeEEH |

It means that the word, which does not change in all the three genders (feTT), all

cases (fa4fed) and in all numbers (S=F) is called Adverb. You know that every noun has
a geneder and the form of that noun changes according to seven cases and three numbers.

You have studied this in lesson-3. e.g. -
(1) =6 3 98fd |
(2) < ¥F BEM TEE |
(3) BEE T YWk T |

In above sentences, word ® is used in different forms. But the word 373 used
in all the three sentences is same. Such word forms used in the same form at every place

are adverbs (37Fs). They are indeclinable.

The Adverbs and their meanings used in each lesson are given in glossary written

at the end of every lesson.
Now read the following sentences :
(1) T (Fgem) orfe foer fog: erfe |
(2) BE: T3 (IR M) wefd |

(3) T HF (HREA Fer) waEfd |
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In above sentences the words underlined are adverbs. To explain same meaning of these
adverbs, noun forms having case and number are given in brackets. It shows that there are

several adverbs in place of which noun forms having case and number are used. These kinds

of adverbs are as follows :

@ (e fed), @ (el feom:), & (@ foom:), sarm (e ),
YT (AR Fred), THfd (AR Het), Far (AEA *iel), a1 (AR et), whar (SRR
FN), Wher (WEAFEA Fe), 99 (AfEH W), @ (I W), & (FEE M),
T (TS M), g9 (FE BRUN), dd: (T BRUT), ofd:  (STE SRUM),
e (FEM HROM), TAT (I FhRON), qAAT (A7 FehROT)

(Note : Relative past participles (Seii ¥aehai) and Infinitives (3@ $a=) which you

have studied in lesson-5 (37%49-5) are also adverbs.)

Exercise

1. 3reifeafEaem reamm 3d faea |
(1) A (2) 9 (3)
4) = S 7 (6) =

2. Teaem g@a |
61 N TS qAl Gl | (e, a1, )
(2) GAIRE: oo At | (e, &9, Id:)
3) T e Jard TiHsfd | (Iq:, hal, I)
(4) TH FHU ..o A= | (q=, 99, 3™)
(5) oo, Ter @efd ad: T 9 defd | (T, T, =)
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